
50 Questions

Que. 1 Which one of the following is a key behaviour in effective teaching?

Correct Option - 4

Using student's ideas and contribution1.
Questioning2.
Structuring3.
Instructional variety4.

Que. 2 The most important function of a teacher is to

Correct Option - 2

impart subject matter1.
teach problem solving technique2.
guide pupils' growth3.
maintain order in the class4.

Que. 3 Which of the following is a learner-centered method?

Correct Option - 3

Lecture method1.
Project method2.
Group discussion method3.
Demonstration method4.

Que. 4 The development of feelings of appreciation and attitude comes under the domain of

Correct Option - 2

cognitive development1.
affective development2.
psycho-motor development3.
all of these4.

Que. 5 The trial and error method of learning according to Thorndike could classified as

Correct Option - 1

the law of exercise1.
the principle of multiple responses2.
the principle of practical activity3.
the principle of associated learning4.

Que. 6 Effective teaching, by and large, is a function of

Correct Option - 4

teacher's scholarship1.
teacher's honesty2.
teacher's ability to make students learn3.
teacher's favourable attitude towards teaching4.
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Que. 7 Creative thinking is

Correct Option - 1

horizontal1.
longitudinal2.
cross-sectional3.
tangential4.

Que. 8 Which of the following is the objective of Continuous and Comprehensive Evaluation (CCE)?

Correct Option - 1

Holistic development of children1.
Promotion of competition among children2.
Encouragement of competition among children3.
Encouragement of academic excellence among children4.

Que. 9 Psychologically speaking, modern teaching methodology places emphasis to treat the students as

Correct Option - 2

clean slate1.
information processor2.
active listener3.
obedient learner4.

Que. 10 The principle of true teaching as "Nothing can be taught" was given by

Correct Option - 4

Swami Dayanand1.
Rousseau2.
Rabindra Nath Tagore3.
Sri Aurobindo4.

Que. 11 An effective teacher is one who

Correct Option - 4

is master of his / her subject1.
maintains discipline in the class2.
is good at rapport building3.
facilitates his / her students to learn at their own4.

Que. 12 The book titled 'Diwa Swapna' was written by

Correct Option - 2

J.Krishnamurthy1.
Gijubhai Badheka2.
Mahatma Gandhi3.
Rabindra Nath Tagore4.

Que. 13 The problem child is generally one who has
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Correct Option - 1

an unsolved problem1.
poor house environment2.
a poor heredity3.
overprotective parent(s)4.

Que. 14 For realizing the goal of teacher training the most important aspect is

Correct Option - 1

training module1.
inspection2.
follow-up programme3.
planning4.

Que. 15 Theory of observational learning was given by

Correct Option - 3

Pavlov1.
Kurt Lewin2.
Bandura3.
Kohler4.

Que. 16 'Guess-who technique' is used to study

Correct Option - 4

personality profile1.
differential apptitude2.
vocational preferences3.
interpersonal relations4.

Que. 17 'Synectics' is the method used for catering to which categories of children?

Correct Option - 3

Backward children1.
Retarded children2.
Creative children3.
Gifted children4.

Que. 18 'A teacher cannot truly teach unless he is learning himself is a viewpoint articulated by

Correct Option - 3

Vivekananda1.
Gandhi2.
Tagore3.
Sri Aurobindo4.

Que. 19 The interaction between a teacher and students creates a zone of proximal
Confusion1.

Difference2.
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Correct Option - 4

Distortion3.
Development4.

Que. 20 The traditional knowledge should be used through which of the following medium?

Correct Option - 3

Modern technology1.
Improvement in national circumstances2.
Synergy between government and local interventions3.
Its dissemination4.

Que. 21 Learning depends on which of the following?

Correct Option - 1

Intelligence1.
Parental attitude2.
Peer attitude3.
None of these4.

Que. 22 Children with disabilities must get education because

Correct Option - 4

they are vulnerable1.
they have special needs of education2.
they are poor3.
it is a basic constitutional right4.

Que. 23 Which one of the following is a major challenge for a teacher?

Correct Option - 4

Maintain discipline in the classroom1.
Make students do their homework2.
Prepare good question papers for examination3.
Make teaching joyful4.

Que. 24 Effective learning depends most upon

Correct Option - 3

Effective teacher1.
teaching method2.
interest of students and their involvement3.
use of teaching aids4.

Que. 25 Which quality of the teacher is liked the most by students?
His punctuality1.

His impartiality2.
His love for discipline3.
His dominance 4.
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Correct Option - 2

Que. 26 Who is the winner of India's highest Civilian Award 'Bharat Ratna' in 2019

Correct Option - 4

Pranab Mukherjee1.
Bhupen Hazarika2.
Nanaji Deshmukh3.
All of them4.

Que. 27 Who is the Vice-Chairman of NITI Aayog at present?

Correct Option - 2

Amitabh Kant1.
Rajiv Kumar2.
Narendra Modi3.
None of them4.

Que. 28 Which of the following is a Harappan port?

Correct Option - 3

Kalibanga1.
Mohenjodaro2.
Lothal3.
None of these4.

Que. 29 Number of players in each side in the game of Kabaddi is are________.

Correct Option - 3

51.
62.
73.
84.

Que. 30 The headquarters of International Monetary fund (IMF) is at

Correct Option - 3

Geneva1.
Paris2.
Washington D.C.3.
Hague4.

Que. 31 Which of the following days is observed as the “Human Rights Day’’?

Correct Option - 3

February 101.
November 102.
December 103.
January 104.
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Que. 32 The book 'The Broken Wings' is written by which of the following author

Correct Option - 1

Sarojini Naidu1.
Arundhati Roy2.
Kiran Bedi3.
Kiran Desai4.

Que. 33 Which of the following rivers falls in the Arabian Sea?

Correct Option - 3

Ganga1.
Godavari2.
Narmada3.
Brahmaputra4.

Que. 34 NITI (National Institution for Transforming India) Aayog came into existence

Correct Option - 1

January 1, 20151.
March 31, 20162.
January 1, 20163.
March 31, 20154.

Que. 35 What should be the minimum age to get the Rajya Sabha membership?

Correct Option - 4

25 years1.
35 years2.
18 years3.
30 years4.

Que. 36 Vasco da Gama reached in 1498 A.D. during the reign of which Hindu ruler of Calicut?

Correct Option - 2

Jay Singh1.
Zamorin2.
Ratan Singh3.
None of them4.

Que. 37 The difference between the length and breadth of a rectangle is 23 metre. If its perimeter is 206
metre, then its area is

Correct Option - 4

1520 square metre1.
2420 square metre2.
2480 square metre3.
2520 square metre4.

Que. 38 The cost price of 15 articles is same as the selling price of 10 articles. The profit percent is
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Correct Option - 4

30%1.
40%2.
45%3.
50%4.

Que. 39 If 3 times a number exceeds its  by 60, then what is the number?

Correct Option - 1

3

5

251.
352.
453.
604.

Que. 40 The average of six number is 20. If one number is removed, the new average becomes 15. What is
the number removed?

Correct Option - 4

51.
352.
1123.
454.

Que. 41 Which number will come in the place of (?) in the following?

Correct Option - 2

3431.
2162.
7293.
None of these4.

Que. 42 Which number will take the place of (?) in the following number series?
5, 11, 23, 47, 95, ?

Correct Option - 3

1211.
1512.
1913.
None of these4.

Que. 43 Which of the following is not a vector quantity?
Displacement1.
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Correct Option - 4

Velocity2.
Momentum3.
Volume4.

Que. 44 The normal temperature of a human body is

Correct Option - 2

37° F1.
37° C2.
98° C3.
None of these4.

Que. 45 Which of the following are Primary colours?

Correct Option - 1

Red, Green, Blue1.
Red, Black, Green2.
Yellow, Red, Green3.
Green, Magenta, Yellow4.

Que. 46 Which of the following is known as Marsh gas?

Correct Option - 1

Methane1.
Ethane2.
Propane3.
Butane4.

Que. 47 The chemical formula of Borax is

Correct Option - 2

K2B4O7.10H2O1.

Na2B4O7.10H2O2.

Al2B4O7.10H2O3.

Mg2B4O7.10H2O4.

Que. 48 Which of the following is not an example of a chemical change?

Correct Option - 4

Burning of fuel1.
Photosynthesis2.
Electrolysis of water3.
Dissolving salt in water4.

Que. 49 Embryo is found in which of the following?
Buds1.

Seeds2.
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Correct Option - 2

Leaves3.
Flowers4.

Que. 50 Which of the following is not a fat soluble Vitamin?

Correct Option - 2

Vitamin A1.
Vitamin B2.
Vitamin D3.
Vitamin E4.

https://play.google.com/store/apps/details?id=com.testbook.tbapphttps://testbook.com/

Page - 9

https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

	Template for PYP PDFs - Acrobat PDF - 1st page.pdf
	Blank Page




